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QUESTION 1

The municipal public security bureau of a city needs to periodically archive each police station\\'s video surveillance
data. 

If the solution provided by Huawei OceanStor 9000 is used in this scenario, which node type should be recommended? 

A. P12 node 

B. P24 node 

C. P36 node 

D. P72 node 

E. C36 node 

Correct Answer: E 

 

QUESTION 2

The OceanStor 9000 in the figure adopts GE networking and enables the InfoLink function for front-end services. How
many IP address should be planned for the front-end service network? 

A. 8 

B. 10 

C. 24 

D. 26 

Correct Answer: D 

 

QUESTION 3
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After the Hadoop service is interconnected with the OceanStor 9000 through the HDFS API, what data redundancy and
protection mechanism is adopted? 

A. Duplicate mechanism 

B. Erasure Code 

C. RAID 2.0+ 

D. Cubic RAID 

Correct Answer: B 

 

QUESTION 4

Huawei OceanStor 9000 uses the erasure code technology to protect data. A site has seven nodes, and the customer
requires the disk utilization rate to reach 70%. 

Which redundancy levels can be used to meet the requirement? (Choose all that apply.) 

A. 6+1 

B. 4+2 

C. 6+4 

D. 12+2:1 

Correct Answer: AD 

 

QUESTION 5

In N8500 clustered NAS system V200R001, how many redundant heartbeat links are set up between two nodes? 

A. 1 

B. 2 

C. 3 

D. 4 

Correct Answer: B 
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